®
amos A e e s

PFE-32,PFE-42,PFE-52BIE £t &R
S 1A — 2 PR A 5

FOMPFE25E U, 120k AL, 3
@@ B SR TR D, BiJE
Hpdrke, 5PFE-THI M A

& T 1547 DIN51524~535 - 1L (111 431l
AL ELAT AL TV BE 1) 15 1«

JRMEA AL, UL, A I AN R A
EACSTH

2235 RSHR 4 SAE J744451E

HETTAE,  JEA R ) DA AR Y
AN FHR AL B P AT o L

O FEik e 2y, TTUALE LA B N T 56 58 8

@B .

@ e HeJu o8, HEE T iA150emrev.

® b

® M PFE-42 I K Sy mik300bar .

@ e
Be

PFE X2 - 42 045 /31028 / 3 D T o /*
SE B
EQIS 0]y 7 IWG=/K . —[iF
X2=HH A ] B2 A R XUBE S o /PE=TIR I
X3=H AN 7 G2 A R =
T B I S BRI b Wil
XA=$—PFE-311K1%% .
XB=§% A PFE-41 ({ %} PFE-42fIPFE-52) {142 . WORE, FHH5].
XC=H - APFE-51 (% PFE-52) 7% . T=hRifE o
XO=Hy3mh, AH 2% U Vo WK
Vil SIS R RS NI 6, & R )
AR é%ﬁggtﬁ RN R, G 27 1 O )
° D= Cln TR DL 1, brdEELs)
S=1 £
JOF 2] Vil PREFEANBESHE, WO s T 75 1 5 1h) o
32, 42, 52
s, FH[6]H (7]
AR A S (DO 28— 205%) T4
Hetk(cmIrev), WL [2] 3= AL
PFE 32: 022, 028, 036 Jen.
PFE 42: 045, 056, 070, 085 S ot (e
PFE 52: 090, 110, 129, 150 SRTERAERR (CRALED)
6= FRIE RN 2 A (1)()(4%45/&?)}““':':'5 32FIPFE42

(U ZBEHEPFEX*: 2. 3443 7=HF 2 BIE P S SR =R

[2] T R4 M. FE453R1450rpm, SHIR50°C, I1SO VGA6T ¥Iim & TimE

Bg crjjwi%ev BSEN() %p%rj&%] I/min 7bard) kW I/min 14opar) kW I/minﬁjc}j_ijj © kW
PFE-32022 21.6 30 0.6 26 7 20 16
PFE-32028 28.1 300 bar |1200—2500 40 0.8 36 10 30 20
PFE-32036 35.6 51 1 46 12.5 40 26
PFE-42045 45 280 bar 64 1.3 60 16 56 31
PFE-42056 55.8 1000—2200 80 1.6 75 21 70 40
PFE-42070 69.9 250 bar 101 2 95 26 90 42
PFE-42085 85.3 210 bar | 800—2000 124 24 118 32 114 43
PFE-52090 90 128 2.7 19 33 1M1 54
PFE-52110 109.6 250 bar |1000—2000 157 3.2 147 40 138 66
PFE-52129 129.2 186 3.7 174 47 163 78
PFE-52150 150.2 210 bar | 800—1800 215 4.2 204 55 197 80

(1) FHIWGHI/PEIE Il 5 K < ) 2 160bar-.
(2) IWGHE I f5: K38 )% 4 1500rpm;  /PEIE T i K id i 9 1800rpm.
() L it AN T AR P FE L5 e e L
A007 - 1
TEL 86-21 64559111 FAX 86-21 51861184



PFE- 2Bt H RIEESH

www . joy-hyd.com

A LR
S E g A E R SOV AT VR 60 R B 35 7 R (1 67
B M-20'CH+70°C
FIFIZEIES 75 ¢7DIN51524~535 K Tl oAb 55 [ 1 15
UK
B RB R 800mm?s
AR I J KR 100mm?/s
AT IR 24 mm’s
AR 10 mmis
R 5 471SO19/M16hiHE (FEBUTI25 1 mAl Bs =750k 36 28
T PRUERE B -20°C~+60°C, /WG Ef-20°C~+50°C, /PE#$f: -20°C~+80°C
P IR JAO%I1.5bar

W HFHIES0C, 1S0 VOA6HE L ik

1=4%E — I 1 g 6001 l ‘ 100>
I 5| g
2-IRFKTE, fEATATISO4412-1BRHEN = 480 A = 0
FREG AT A = 260 w0 T 5
ShFEHE: 1450rpm = ?_3, PFE-52
g 240 A 70 oo }i\_ 70 /'// PFE-42
_% ] /‘"5 36 LY //(’// PFE-32
= po| // — = — T |
[ —foz2
e = /
0 60 120 180 240 300 0 60 120 180 240 300
LA J) [bar] AR ) [bar]
PFE-32 100 30
3 4
3=RE R, )k N TbarE ik 42210abr 80 2
A A AH By bt
2 A TR . B s L 036
) _ S 60 = |-
4=1E140barlt [ T 3 H FE — R E 2%, £ W 028
SHRE % 5 TARIT PR L. = o = parars
ES S //’
20} Py — Z/__
0 1200 1600 2000 2400 2800 0 1200 1600 2000 2400 2800
e [rpm] et [rpm]
PFE-42
s g g A s 200 60
S5=iiE—iEML, )k J)M7bari 1k 52210bar 5 6
AT -
160 48 085
6=11:140barllf [FITh R HFE — R E Lk, 070 _ 070
W R 2R A e J7 b L = 120 E 3%
£ 056 = / 056
- = / s
= e S B 7 g
40 < 2
0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500
et [rpm] e [rpm]
PFE-52 3001 0075
7=iE —FiERML, {8k ) N7bar 4k 42 210bar 240 80 150
21 K - 29
€ 180 X, 60
8=15140bari (10T 565 4t — g 4%, £ w o
I FE Ty 20 TR g i AE L Eﬂi 120 = 40 090
- = /
60 20~
0 500 1000 1500 2000 2500 0 500 1000 1500 2000 2500

A007 - 2

39 [rpm]

3 [rpm]

TEL 86-21 64559111 FAX 86-21 51861184



www . joy-hyd. com

i 01 7
PR LEA G SRS A AN ) 7 ) A ), SRS (Al )
T=ak il AR AR R i b (BRifE )
U=ty 7 5 1Bl 1 AH 2180°
V=i Sk A 2290
W=H il 5 1l A 22270°
PEZ APl e SR B
ST PRIHE S AT LA e 2 3 i ) R SRR T (S 5 g
T
T P
[6] #zh 4
%
3=H TR Z AL (SO 28— B 50D
FHT e
<
[m)
F
FiRmAI3
A5 [&apiiikiliEit]
Al | F | G| K | @1 DAQ
PFE-32 | 4.78 |24.54| 55.6 | 9.50 |22.22| SAE 16/32-9T
4.75 |24.41 22.20
PFE-42 | 6.38 |28.30(78.00(11.40|25.38| SAE 32/64-24T|
6.36 [28.10 25.36
PFE-52 | 7.97 |38.58/84.00| 14 |34.90| SAE 16/32-13T]|
7.94 (38.46 34.88
TSR
5=+ IR 2 HEIE (R R )
FH+PFE-3275¢+SAE A 16/32 DP, 9% ik
FFPFE-4275 ¢+ SAE B 16/32 DP, 13/t i
- FPFE-52754-SAE C 12/24 DP14%# ik
G=HI T AR 2 I (DO T30 — 1 B 5%
FH-J7-PFE-32FIPFEX*-321F 4 SAE B 16/32 DP, 13 i
JHT-PFE-42FIPFEX*-4275 4 SAE C 12/24 DP 1441
7=1E 2 AR TP 158 RIS A Il
JHFPFEX*-3275 £ SAE B 16/32 DP, 134t
JHFPFEX*-4275 4 SAE C 12/24 DP14%# ik
TEHEAHELS TEEImAL 6 TEEamA7
A5 [EapiiE L] [YEapiiEiIEL] [EapiiE L]
G2 | G3| K 71 DAQ G2 | G3| K 71 DAQ G2 | G3| K 71 DAQ
PFE-32| 32 [19.50|6.50| SAE 16/32-9T | SAE 16/32-9T |41.50| 8.00| 9.50 [SAE 16/32-13T SAE 16/32-9T | 32 | 19 |8.00|SAE 16/32-13T| SAE 16/32-9T
PFE-42|41.25| 28 |8.00|SAE 16/32-13T|SAE 32/64-24T |55.60| 42 |8.00 [SAE 12/24-14T| SAE 32/64-24T|41.60| 28 |8.00 |SAE 12/24-14T| SAE 32/64-24T
PFE-52(56.00| 42 |8.10|SAE 12/24-14T| SAE 16/32-13T| - - - - - - - - - -
[7 |3 45 89 1R 4
&AIRFIHEE [Nm] R4 A B A AR [Nm)
AT
AL HELS hELS hEL7 AT 4 AL
PFE-32 240 110 240 240 130
PFE-42 400 200 400 400 250
PFE-52 850 450 - - 400
IR Z)) 45 T 75 TR AT AR A S5 A  vh S (KL — R g ik bnT 25 )
TEZ AP — R I SR 25 R I A
AR UE A FH AE DK ) %l (1 S LR AS B2 o 2 v T 470 F M AOOT - 3
TEL 86-21 64559111 FAX 86-21 51861184



www . joy-hyd.com

[8]#FmuyZ%E R~ [mm)]

T=Eah H

P=thiah
L
M
5
5 D
.

SAE300MY brvfvk 2% 22 S : =

PFE-32: TI1=11/4"; PI1=3/4 " i

PFE-42: TIH1=11/2"; PH=1" PFE-32=9kg

PFE-52: TI=2"; Pr=11/4" PFE-42=20.5kg

PFE-52=32.1kg
B e A B c oD E H L M oN Q R
PFE-32 136 100 28 825 70 6.4 106 73 95 1.1 28.5
PFE-42 175.5 120 38 1016 78 97 146 107 120 14.3 34
PFE-52 189 125 38 127 89 127 181 1435 148 175 35
e @s Ut u2 v oW1 oW2 N 2 X1 X2 oY
PFE-32 14 58.7 47.6 10 32 19 30.2 222 | M10Xx20 | M10X17 | 47
PFE-42 134 70 52.4 13 38 25 35.7 262 | M12x20 | M10X17 | 76
PFE-52 158 77.8 58.7 15 51 32 429 30.2 | M12x20 | M10X20 | 76
[9]@#MRR~T (HERFT) [mm]
T=HE 11 - ) _
P=thahFl N
[%2]
<T
s
SAEVL
PFEX-32: TI1=11/4"; PI1=3/4"
PFEX-42: TI1=11/2"; PII=1"
PFEX-52: TI1=2"; PrH=11/4"
HAl RN, W8]

e | OAG| ©AH |mramsNm(] AL | @AN| AP | AR | @AS H J L M N R
PFEXA-32 114 | 106 70 M10x17| 95 | 33 | 25 | S5o0 | 842 | 155 | 1325 79 32 285
PFEXA-42 134 | 106 70 Mi0x17| o5 | 23 | 11 | S350 | 042 194 171 73 32 285
PFEXB-42 134 | 146 125 Mi2 | 120 | 32 | 18 | (91ga | 973 203 171 107 41 34
PFEXA-52 134 | 106 70 | miox17| es | 227 1 | 5397 842 | 5062 | 1835 | 73 32 285
PFEXB-52 134 | 146 125 Mi2 | 120 | 32 | 18 | (0122 | 378 | 2155 | 1835 107 41 34
PFEXC-52 134 | 181 300 M16 | 148 | 465|307 | jar 05 | 1278 | 230 | 1835 | 1435 56 35

() BRI S 5 12. 9%
AQO7 - 4

TEL 86-21 64559111 FAX 86-21 51861184




	页 1
	页 2
	页 3
	页 4

